Grll June 2022 Exam P1 Memo

1.1 A 16 D
1.2 B 1.7 B
13 D 1.8 C
14 D 1.9 D
15 B 1.10 C (10 x 2)

2.1  The force that opposes the tendency of motion of a stationary object

relative to the surface. (2)
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A body will remain in its state of rest or motion at constant velocity

unless a non-zero resultant force acts on it. (2)
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When a resultant / net force acts on an object, the object will accelerate
in the direction of the force, at an acceleration directly proportional to
the force and inversely proportional to the mass of the object. (2)
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When object A exerts a force on object B, object B simultaneously
exerts a force which is equal in magnitude but opposite in direction on

object A. (2)
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The gravitational force of attraction between two objects is directly
proportional to the product of the masses and inversely proportional to the
square of the distance between their centres. (2)
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6.3  Equal in magnitude. (2)
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